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1. The average weather condition in given place for a longer period of time
is called ...........

a. Season b. weather

c. Atmosphere d. Climate

EImÚm {R>H$mUÀ¶m hdoÀ¶m XrK©H$mbrZ gamgar pñWVrg H$m¶ åhUVmV?

A) F$Vw ~) hdm

H$)  dmVmdaU S>) hdm‘mZ

2. Southern fragmented part of Pangea is called as ..............

a. Gondwana b. Laurencia

c. Tethys d. Asia

{dI§S>rV nm§{O¶m À¶m X{jU ŷ̂ mJmg H$m¶ åhUVmV?

A) Jm|S>dZm ~) b°[a{e¶m

H$)  Q>o{Wg S>) E{e¶m

3. Which of the following landform developed by depositional work of
river?

a. Delta b. ‘V’ shaped Valley

c. Waterfall d. Potholes

ZXrÀ¶m g§M¶Z H$m¶m©‘wio Imbrbn¡H$s H$moUVo ŵén V¶ma hmoVo?

A) {Ì ŷO àXoeZ ~) ìhr AmH$mamMr Xar

H$) Y~Y~m S>) amOZ IiJo



4. The equatorial low-pressure belt is known as ...............

a. Horse latitude b. Doldrum

c. Furious fifty d. Roaring forties

{dfdd¥Îmr¶ H$‘r Xm~mÀ¶m nQ²>Q>çmg ............... åhUVmV.

A) Aœ Ajm§e ~) S>mobS´>‘

H$)  Idibobo nÝZmg S>) JaOUmao Mmirg

5 Atmospheric air pressure at sea level is ...............

a. 1013.2 mb b. 1020.2 mb

c. 1025.3 mb d. 1027.4 mb

g‘wÐgnmQ>rOdi hdoMm Xm~ .................... {‘{b~ma AgVmo.

A) 1013.2 {‘~m ~) 1020.2 {‘~m

H$)  1025.3 {‘~m S>) 1027.4 {‘~m

6. The book Anthr opogeography is written by ....................

a. Vidal-de-la-Blache b. Davis

c. Ratzel d. Huntington

A«m§W«monmoOm°J«’$s ho nwñVH$ ............. ¶m§Zr {b{hbo.

A) {dS>mb-S>r-bm-ãbme ~) S>o{dg

H$)  a°Q>Pob S>) h§qQ>JQ>Z

7. .......is the main primary occupation in seacoast villages

a. Mining b. Wood cutter

c. Pottery d. Fishing

gmJa {H$Zmè¶mOdirb IoS>çmV ................ hm à‘wI ì¶dgm¶ Ho$bm OmVmo.

A) ImUH$m‘ ~) bmHw$S>VmoS>

H$)  Hw§$^maH$m‘ S>) ‘mgo‘mar

8. Study of Human economic activities and processes is a major part of .......
branch of human geography.

a. Economic geography b. Social geography

c. Medical geography d. Crime geography

‘mZdmÀ¶m Am{W©H$ {H$«$¶m à{H$¶m§Mm Aä¶mg ‘mZdr ŷJmobmÀ¶m H$moUË¶m emIoV Ho$bm OmVmo?

A) Am{W©H$ ^yJmob ~) gm‘m{OH$ ŷJmob

H$) d¡ÚH$s¶ ^yJmob S>) JwÝho{df¶H$ ^yJmob



9. Which type of settlements are found in fertile plain area?

a. Low b. Dense

c. scattered d. Industrial.

gwnrH$ ‘¡XmZr àXoemV ............... dgmhVr AmT>iVmV.

A) H$‘r ~) XmQ>

H$) {dai S>) CÚmoJàXmZ

10. Which of the following settlement pattern developed around the lake?

a. Linear b. Circular

c. Triangular d. None of these

Imbrbn¡H$s H$moUVo dgmhV àmê$n gamodam^modVr {dH${gV hmoVo?

A) aofmH¥$Vr ~) dVw©imH$ma

H$)  {ÌH$moamH¥$Vr S>) ¶mn¡H$s Zmhr

11. The acidity and alkalinity of the soil is measure in ............ unit.

a. Ec b. TDS

c. Bo d. PH

O{‘ZrMr AmåbVm d {dåbVm H$moUË¶m EH$H$mV ‘moObr OmVo?

A) Ec ~) TDS

H$)  Bo S>) PH

12. Which of the following is the basic nutrient of soil?

a. Manganese b. Nitrogen

c. Iron d. Boron

Imbrb n¡H$s H$moUVm ‘mVrMm nm¶m ŷV nmofH$ KQ>H$ Amho?

A) ‘°½Zoer¶‘ ~) Zm¶Q´>moOZ

H$)  bmoh S>) ~moam°Z

13. Which of the following is azonal soil type as per the genetic classification?

a. Laterite b. Tundra

c. Prairie d. Alluvial

OZwH$s¶ dJuH$aUmZwgma Imbrbn¡H$s H$moUVm A{d^mJr¶ ‘¥XoMm àH$ma Amho?

A)  Om§̂ r ‘¥Xm ~) Qw>§S´>m ‘¥Xm

H$) àoAar ‘¥Xm S>) JmimMr ‘¥Xm



14. Which soil has covered highest area in Maharashtra?

a. Red soil b. Regur soil

c. Alluvial soil d. Laterite soil

‘hmamï´>mVrb gdm©{YH$ joÌ H$moUË¶m ‘¥XoZo ì¶mnbobo Amho?

A) Vm§~S>r ‘¥Xm ~) aoJwa ‘¥Xm

H$)  JmimMr ‘¥Xm S>) Om§̂ r ‘¥Xm

15. How is soil section taking?

a. Vertical b. Horizontal

c. Oblique d. None of these

‘¥XoMm N>oX H$gm KoÊ¶mV ¶oVmo?

A) C^m ~) AmS>dm

H$)  {Vanm S>) ¶m n¡H$s Zmhr

16. Which of the following factor is related to formation of Coal ?

a. Soil b. Vegetation

c. Water d. Air

Imbrb n¡H$s H$moUVm KQ>H$ H$moigm {Z{‘©Vrer g§~§{YV Amho?

A) ‘¥Xm ~) dZñn{V

H$)  nmUr S>) hdm

17. In which country world's largest tidal energy plant is located?

a. USA b. China

c. Japan. d. India

OJmVrb gdm©V ‘moR>o ^aVr D$Om© H|$Ð H$moUË¶m XoemV Amho?

A) g§¶w³V g§ñWmZo ~) MrZ

H$)  OnmZ S>) ^maV

18. Which of the following human action is harmful for sustainable
development?

a. Tree plantation b. Re use of water

c. Use of public transport d. use of pesticides

Imbrb n¡H$s H$moUVr ‘mZdr {H«$¶m emœV {dH$mgmgmR>r hm{ZH$maH$ Amho?

A) d¥jmamonU ~) nmÊ¶mMm nwZdm©na

H$)  gmd©O{ZH$ dmhVwH$sMm dmna S>) H$sQ>H$ ZmeH$m§Mm dmna



19. In which year environment and development commission is established in
united nations?

a. 1972. b. 1987

c. 1993 d. 1999

H$moUË¶m dfu g§¶w³V amï´>g§KmZo n¶m©daU Am{U {dH$mg Am¶moJmMr ñWmnZm Ho$br?

A) 1972 ~) 1987

H$)  1993 S>) 1999

20. Which of the following is not natural resource?

a. Solar b. Wind

 c. Vehicle d. Water

Imbrb n¡H$s H$moUVr gmYZg§nÎmr Z¡g{J©H$ Zmhr?

A) gm¡aD$Om© ~) ndZ D$Om©

H$)  dmhZo S>) Ob D$Om©

21. Among following which sea has maximum salinity?

a. Dead sea b. Baltic sea

c. Red sea d. Black sea

Imbrb H$moUË¶m g‘wÐmMr jmaVm gdm©{YH$ Amho?

A) ‘¥V g‘wÐ ~) ~mpëQ>H$ g‘wÐ

H$)  Vm§~S>m g‘wÐ S>) H$mim g‘wÐ

22. Which instrument is using to measuring salinity of ocean water?

a. Thermometer b. Barometer

c. Spectrometer d. Salinometer

gmJa ObmMr jmaVm ‘moOÊ¶mgmR>r H$moUVo CnH$aU dmnabo OmVo?

A) Vmn‘mnH$ ~) dm¶ŵ ma‘mnH$

H$)  ñno³Q´>m{‘Q>a S>) g°{bZmo{‘Q>a

23. Which of the following current is the part of Atlantic ocean circulation?

a. Labrador b. Kuroshio

c. California d. Peru

Imbrbn¡H$s H$moUVm gmJaràdmh AQ>bm§{Q>H$ ‘hmgmJamVrb Amho?

A) b°~«mS>moa ~) H$¶yamo{eAmo

H$)  H°${b’$mo{Z©¶m S>) noê$



24. What we show at the centre of wind rose?

a. Calm days b. Wind velocity

c. Wind direction d. None of these

dmVnwînmÀ¶m H|$ÐñWmZr H$m¶ Xe[dbo Amho?

A) em§V {Xdg ~) dm¶w doJ

H$)  dmV {Xem S>) darb n¡H$s Zmhr

25. Which is the largest salt producing state in India?

a. Gujarat b. Kerala

c. Maharashtra d. Orissa

^maVmV gdm©V OmñV ‘rR> CËnmXZ H$aUmao amÁ¶ H$moUVo?

A) JwOamV ~) Ho$ai

H$) ‘hmamï´> S>) Amo[agm

26. The theory of agricultural land use was propounded by ...............

a  Von Thunen b. Malthus

c.  Griffith Tailor d. W. M. Davis

H¥${f ŷ‘r Cn¶moOZmMm {gÕm§V .................... ¶m§Zr ‘m§S>bm.

A) ìhmZ WyZoZ ~) ‘mbWg

H$)  J«r{’$W Q>oba S>) S>ãbw. E‘. S>o{dg

27. ........... means agriculture that preserve that balance of all elements in the
environment and produce good quality product and protect environment.

a. Modern Agriculture b. Traditional Agriculture

c. Sustainable Agriculture d. Horticulture

.................... åhUOo n¶m©daUmVrb gd© KQ>H$m§Mm g‘Vmob {Q>H$dyZ H$m¶‘ àH$maMo CÎm‘
JwUdÎmoMo CËnmXZ XoUmar d n¶m©daUmMo g§ajU H$aUmar eoVr hmo¶.

A)  AmYw{ZH$ eoVr ~) nma§nm[aH$ eoVr

H$)  emœV eoVr S>) ’$i ~mJm¶Vr

28. Due to use of excess chemical fertiliser and excess irrigation, soil become ........

a. Saline and waterlogged b. fertile

c. swampy d. none of these

A{V[a³V amgm¶{ZH$ IVm§Mm dmna d A{V[a³V ObqgMZm‘wio O{‘Zr .......... hmoVmV.

A) jmanS> d nmUWi ~) gwnrH$

H$)  XbXb¶w³V S>) darb n¡H$s Zmhr



29. Which of the following types of fertilisers are beneficial for sustainable
agricultur e?

a. Chemical b. organic

c. soluble d. mixed

emœV eoVr H$aÊ¶mgmR>r H$moUË¶m àH$maÀ¶m IVm§Mm dmna H$aUo ’$m¶Xoera R>aVo?

A) amgm¶{ZH$ ~) g|{Ð¶

H$)  {dÐmì¶ S>) {‘l

30. What is the diagram drawn to show the land use of a region called?

a. Proportional circle b. proportional sphere

c. divided circle d. divided rectangle

EImÚm àXoemÀ¶m ŷ‘r Cn¶moOZ Xe©{dÊ¶mgmR>r H$mT>boë¶m AmH¥$Vrbm H$m¶ åhUVmV?

A) à‘mU~Õ Mm¡ag ~) à‘mU~Õ Jmob

H$)  {d^m{OV dVw©i S>)  {d^m{OV Am¶VmH¥$Vr

31. Who laid the foundation of mathematical geography?

a. Homer b. Thales

c. Anaximander d. Hacatious

JUrVr¶ ŷJmobmMm nm¶m H$moUr KmVbm?

A)  hmo‘a ~) Woëg

H$)  AZo{³e‘|S>a S>) hoHo${Q>¶g

32. The word Geography is coined by ..............

a. Pythagoras b. Aristotle

c. Hipparchus d. Eratosthenes

ŷJmob hr g§km gd©àW‘ H$moUr dmnabr?

A)  nm¶WmJmoag ~) A°[añQ>moQ>b

H$)  {hßnaH$g S>) Ba°Q>moñWoZrg

33. Who put forth the concept of "Payas"

a. Humboldt b. Blache

c. Davis d. Mackinder

nm¶g hr g§H$ënZm H$moUr ‘m§S>br?

A)  h§~moëQ> ~) ãbme

H$)  S>opìhg S>) ‘H$sZS>a



34. Who is known as father of modern geography?

a. Eratosthenes b. Hipparchus

c. Herodotus d. Humboldt

AmYw{ZH$ ^yJmobmMm OZH$ åhUyZ H$moUmbm AmoiIbo OmVo?

A)  Ba°Q>moñWoZrg ~) {hßnmaH$g

H$)  hoamohm°Q²>g S>) h§~moëQ>

35. The golden period of Greek was in between-

a. 400 to 100 BC. b. 400 to 200 BC

c. 500 to 100 BC d. 500 to 200 BC

J«rH$m§Mm gwdU©H$mi .................. ¶m H$mimV Amho.

A) 400 Vo 100 ~r.gr. ~) 400 Vo 200 ~r.gr.

H$)  500 Vo 100 ~r.gr. S>) 500 Vo 200 ~r.gr.

36. Who of the following is considered as proponent of determinism?

a. Hetner b. Blache

c. Tailor d. Semple

Imbrbn¡H$s H$moUVm {dMmad§V {ZgJ©dmXmMm nwañH$Vm© åhUyZ AmoiIbm OmVmo?

A) hoQ>Za ~) ãbme

H$)  Q>oba S>) g|nbo

37. Who was the first thinker intr oducing the concept of quantitative
revolution in Geography

a. Eratosthenes b. Burton

c. Ritter d. Humboldt

^yJmobmV gm§p»¶H$s H«$m§VrMr g§H$ënZm ‘m§S>Umao n{hbo {dMmad§V H$moU hmoVo?

A) Ba°Q>moñWoZrg ~) ~Q>©Z

H$)  H$mb© [aQ>a S>) h§~moëQ>

38. The movement of radical geography was started in USA during ..............

a. 1950 b. 1960

c. 1970 d. 1980

A‘o[aHo$V ‘ybVËddmXr ŷJmobmMr Midi H$Yr gwê$ Pmbr?

A)  1950 ~) 1960

H$)  1970 S>) 1980



39. Which of the following factor studies in economic geography?

a. Climate b. Landform

c. Resources d. Human Races

Imbrbn¡H$s  H$moUVm KQ>H$ Am{W©H$ ŷJmobmV Aä¶mgbm OmVmo?

A) hdm‘mZ ~) ^wéno

H$)  gmYZg§nÎmr S>) ‘mZdd§e

40. Which of the following is a branch of economic geography?

a. Agricultural geography b. settlement geography

c. Geomorphology d Social geography

Imbrbn¡H$s  H$moUVr Am{W©H$ ŷJmobmMr emIm Amho?

A) H¥${f ^yJmob ~) dgmhV ŷJmob

H$)  ŵê$n emó S>) gm‘m{OH$ ŷJmob

41. In which year special economic zone policy was announced

a. 1993 b. 1999

c. 2005 d. 2007

{deof Am{W©H$ joÌ YmoaU H$moUË¶m dfu Kmo{fV H$aÊ¶mV Ambo?

A) 1993 ~) 1999

H$) 2005 S>) 2007

42. Which raw material maintain weight during pr oduction process ?

a. Coal b. Iron ore

c. Sugar Cane d. Cotton

Imbrb n¡H$s CËnmXZ à{H«$¶oV dOZ H$m¶‘ amhUmam H$ÀMm ‘mb H$moUVm?

A) H$moigm ~) bmohI{ZO

H$)  D$g S>) H$mnyg

43. Which of the following is a major sector of Ir on ore industry in USA?

a. Petersburg b. Ural

c. Osaka d. Scotland

Imbrb n¡H$s H$moUVo g§¶w³V g§ñWmZmVrb bmohnmobmX CÚmoJmMo ‘hËdmMo H|$Ð Amho?

A) {nQ>g~J© ~) D$ab

H$)  AmogmH$m S>) ñH$m°Q>b§S>



44. Which of the following is a busiest sea route in the world?

a. Panama b. Suez

c. North Atlantic d. None of these

Imbrbn¡H$s H$moUVm gdm©V JO~Obobm gmJar ‘mJ© Amho?

A)  nZm‘m ~)  gwEP

H$)  CÎma AQ>§bm§{Q>H$ S>) ¶mn¡H$s Zmhr

45. Which is the longest railway route in the world?

a. Trans-Siberian b. Canadian-Pacific

c. Cape - Cairo d. Chile- Argentina

Imbrb n¡H$s H$moUVm OJmVrb gdm©V bm§~ bmoh‘mJ© Amho?

A) Q´>mÝg g¡~oar¶Z ~) H°$Zo{S>¶Z n°{g{’$H$

H$)  Ho$n H¡$amo S>) {Mbr AO]{Q>Zm

46. Which of the following iron ore is high quality iron ore?

a. Magnetite b. Hematite

c. Limonite d. Siderite

Imbrbn¡H$s H$moUVo bmohI{ZO CÀM àVrMo ‘mZbo OmVo.

A) ‘°J«Q>mB©Q> ~) ho‘oQ>mB©Q>

H$)  {b‘moZmB©Q> S>)  {gS>oamB©Q>

47. Which is the oldest mountain in India?

a. Sahyadri b. Himalaya

c. Aravalli d. Satpura

^maVmVrb gdm©V àmMrZ nd©V H$moUVm?

A) gømÐr ~) {h‘mb¶

H$)  Aadbr S>) gmVnwS>m

48. The country which had a longest boundary with India?

a. Nepal b. Bhutan

c. Pakistan d. China

^maVmer gdm©V OmñV gr‘maofoZo OmoS>bm Jobobm Xoe H$moUVm?

A) Zonmi ~) ^yVmZ

H$)  nm{H$ñVmZ S>) MrZ



49. Which is the longest river in Indian Peninsula?

a. Krishna b. Godavari

c. Kaveri d. Narmada

^maVr¶ nR>mamdarb gdm©V bm§~ ZXr H$moUVr?

A) H¥$îUm ~) JmoXmdar

H$)  H$mdoar S>) Z‘©Xm

50. The older alluvial plain in India is known as

a. Bhabar b. Bhangar

c. Regur d. Tarai

^maVmVrb OwÝ¶m JmimÀ¶m ‘¡XmZr àXoembm ........... åhUyZ AmoiIbo OmVo.

A) ^m~a ~)  ^m§Ja

H$)  aoJya S>) VamB©

51. Which is the following state receiving most of the rainfall during
retreating monsoon season?

a. Andhra Pradesh b. Punjab

c. Tamil Nadu d. Kerala

Imbrbn¡H$s H$moUË¶m amÁ¶mV naVrMm ‘mog‘r nmD$g gdm©V OmñV nS>Vmo?

A)  Am§Y« àXoe ~) n§Om~

H$)  Vm{‘iZmSy> S>) Ho$ai

52. Which is the leading sugar producing state in India?

a. Maharashtra b. Orissa

c. Karnataka d. Andhra Pradesh

^maVmVrb gmIa CËnmXZm‘Ü¶o AJ«oga AgUmao amÁ¶ H$moUVo?

A)  ‘hmamï´> ~) Amo[agm

H$)  H$Zm©Q>H$ S>) Am§Y« àXoe

53. What is the southern latitudinal value of Indian extension ?

a) 8°4'N b) 37°6'N

c) 68°7'E (d) 97°7'E

^maVr¶ {dñVmamMr X{jUoH$S>rb Ajd¥ÎmmMr qH$‘V H$m¶ Amho?

A) 804'  CÎma ~) 3706'  CÎma

H$)  6807'  nyd© S>) 9707'  nyd©



54. Which is following forms a dividing line between the western coastal
region and Deccan plateau.

a) The Aravalli b) The Western Ghats

e) The Vindhyan d) The Mikir Hills

npíM‘dVu {H$Zmar àXoe Am{U X»IZMo nR>ma ¶m§Zm AbJ H$aUmar Imbrbn¡H$s H$moUVr aofm Amho?

A) Aadbr nd©V ~) n[íM‘ KmQ>

H$)  qdÜ¶ nd©V S>) {‘H$sa Q>oH$S>çm

55. What is the share of India in respect to area in the world?

a. 2.2 b. 3.2

c. 4.2 d. 1.2

^maVmMo joÌ’$i OmJ{VH$ joÌ’$imÀ¶m {H$Vr Q>³Ho$ Amho?

A) 2.2 ~) 3.2

H$)  4.2 S>) 1.2

56. How many physical divisions of India?

a. Four b. five

c. six d. seven

^maVmV EHy$U {H$Vr àmH¥${VH$ {d^mJ AmhoV?

A) Mma ~) nmM

H$)  ghm S>) gmV

57. What is the total length of land boundary of India?

a. 13200 km b. 14200km

c. 15200 km d. 16500km

^maVmÀ¶m ŷ-gr‘oMr bm§~r {H$Vr Amho?

A) 13200 {H$.‘r. ~) 14200 {H$.‘r.

H$)  15200 {H$.‘r. S>) 16500 {H$.‘r.

58. Convert the fractional scale 1:50000 into verbal scale according to the
metric measurement system.

a) 1cm = 5 km b) 1cm = 5 m

c) 1cm = 50m d) 1cm = 500m

1:50000 ¶m A§H$ à‘mUmMo ‘|{Q´>H$ ‘mnZ nÕVrZwgma eãX à‘mUmV énm§Va H$am.

A) 1 go. ‘r. = 5 {H$.‘r. ~) 1 go. ‘r. = 5 ‘r.

H$)  1 go. ‘r. = 50 ‘r. S>) 1 go. ‘r. = 500 ‘r.



59. Which of the following maps is made on the smallest scale ?

a) Cadastral Maps b) Topographical Maps

c) Wall Maps (d) Atlas Maps

Imbrbn¡H$s H$moUVo ZH$meo ho gdm©V N>moQ>çm à‘mUmda V¶ma Ho$bo OmVmV?

A) ñWmda ‘mbH$sMo ZH$mem ~) ñWb{ZX}eH$ ZH$meo

H$) q^Vrdarb ZH$meo S>) ZH$mem g§J«hmVrb ZH$meo

60. If a plane paper is kept touching a Equator in zenithal projections, then
these projections are called  ................

A) Zenithal Gnomonic Projection

B) Zenithal Equatorial Projection

C) Zenithal Polar Projection

D) Zenithal Oblique Projection

I‘Ü¶ àjonUm‘Ü¶o gnmQ> H$mJX {dfwd¥Îmmbm ñne© H$ê$Z R>odë¶mg Ë¶m àjonUm§Zm H$m¶ åhUVmV?

A) I‘Ü¶ Jmo‘wIr àjonU ~) I‘Ü¶ {dfwd¥Îmr¶ àjonU

H$)  I‘Ü¶ Yw«dr¶ àjonU S>) I‘Ü¶ {V¶©H$ àjonU

61. Which of the following projection is useful for constructing a map of the
entire world?

A) Zenithal Polar Gnomonic Projection

B) One Standard Parallel Conical Projection

C) Cylindrical Equal Area Projections

D) Zenithal Polar Equal Area Projection

Imbrbn¡H$r H$moUVo àjonU ho g§nyU© OJmMm ZH$mem V¶ma H$aÊ¶mH$[aVm Cn¶w³V R>aVo?

A) I‘Ü¶ Yw«dr¶ Jmo‘wIr àjonU ~) EH$ à‘mU Ajd¥Îm e§Hy$ àjonU

H$)  X§S>Jmobr¶ g‘joÌ àjonU S>) I‘Ü¶ Yw«dr¶ g‘joÌ àjonU

62. The line joining the topmost elevated portions of all the serial profiles
drawn on a same base line is known as ............

A) Latitudinal Profile B) Composite Profile

C) Superimposed Profile D) Projected Profile



EH$mM nm¶m ŷV aofoda H$mT>boë¶m gd© àmo’$mB©bÀ¶m gdm©V daÀ¶m ^mJm§Zm OmoS>Umè¶m nmœ©aofm§Zm H$m¶
åhUVmV?

A) AZwJm‘r nmœ©aofm ~) g§¶w³V nmœ©aofm

H$)  AÜ¶mamo{nV nmœ©aofm S>) àjo{nV nmœ©aofm

63. In which of the following ways can the gradient of the earth's surface be
represented?

a) in degrees b) in percentage

c) In fractions. d) All of the above

Imbrbn¡H$s H$moUË¶m àH$mao ŷn¥ð>mMo CVma‘mZ X{e©{dVm ¶oVo?

A) A§emV ~) Q>³Ho$dmarV

H$)  AnyUmªH$mV S>) darbn¡H$s gd©

64. In topographical maps, human settlements are represented by which
colour?

A) Black B) Blue

C) Red D) Brown

ŷñWybXe©H$ ZH$mem§‘Ü¶o ‘mZdr dgmhVr H$moUË¶m a§JmZo Xe©{dë¶m OmVmV?

A) H$mù¶m ~) {Zù¶m

H$)  bmb S>) Vn{H$ar

65. Which instrument is used to measure the wind speed?

A) Cup Anemometer B) Barograph

C) Thermograph D) Wind Vane

dmè¶mMr JVr ‘moOÊ¶mgmR>r H$moUVo CnH$aU dmnabo OmVo?

A) dm¶w doJ ‘mnH$ ~) dm¶ŵ ma boIH$

H$)  Vmn‘mZ boIH$ S>) dm¶w {XemXe©H$

66. The isobaric pattern which have maximum air pressure at the center is
called ...................

A) Cyclone B) Anticyclone

C) Secondary Cyclone D) Col

JmobmH$ma g‘^ma aofm§À¶m ‘Ü¶^mJr gdm©V OmñV dm¶ŵ ma Agob Va Ë¶m g‘^ma aofm àménmg H$m¶
åhUVmV?

A) AmdV© ~) àË¶mdV©

H$)  Xþ¶å‘ AmdV© S>) H$mob



67. Which of the following components can be represented by dot method ?

A) Iron ore B) Agriculture Landuse

C) Population D) All of the above

qQ>~ nÕVrÀ¶m ZH$mem‘Ü¶o Imbrbn¡H$s H$emMo {dVaU Xe©{dVm ¶oVo?

A) bmohI{ZO ~) H¥$fr ŷ‘r Cn¶moOZ

H$) bmoH$g§»¶m S>) darb gd©

68. Which of the following is the most powerful type of computer?

A) Supercomputer B) Main frame computer

C) Mini computer d) Micro computer

Imbrb n¡H$s g§JUH$mMm gdm©V e³Vrembr àH$ma H$moUVm?

A) ‘hmg§JUH$ ~) ‘oZ ’o«$‘ g§JUH$

H$)  {^Zr g§JUH$ S>) ‘m¶H«$mo g§JUH$

69. Which of the following is an output device of a computer?

A) Mouse b) Key-board

C) Monitor d) Scanner

Imbrbn¡H$s H$moUVo g§JUH$mMo àXmZ (AmD$Q>nwQ>) gmYZ Amho?

A) ‘mD$g ~) {H$-~moS>©

H$)  ‘m°{ZQ>a S>) ñH°$Za

70. The instrument that produces images by recording the various elements
on the earth's surface is known as

A) Sensor b) Platforms:

C) Satellite D) None of these

ŷn¥ð>mdarb {d{dY KQ>H$m§À¶m Zm|Xr KoD$Z à{V‘m V¶ma H$aUmè¶m gmYZmg H$m¶ åhUVmV?

A) g§doXH$ ~) AmgZ

H$)  CnJ«h S>) ¶mn¡H$s Zmhr

71. Which of the following factors are considered at the time of interpretation
of aerial photographs?

a) Texture B) Tone

C) Association D) All of the above



hdmB© N>m¶m{MÌm§Mo dmMZ H$aVmZm Imbrbn¡H$s H$moUVo KQ>H$ {dMmamV KoVbo OmVmV?

A) nmoV ~) dU©N>Q>m

H$)  g§JV S>) darb gd©

72. Which of the following techniques illustrates field analysis in the form of
cartographic paradigms?

(a) Geographic Information System (GIS)

b) Global Positioning System (GPS)

C) Remote Sensing

d) Aerial Photographs

Imbrbn¡H$s ZH$mememór¶ à{V‘mZm§À¶m ê$nmZo joÌr¶ {dûcofU H$aUmao V§Ì H$moUVo?

A) ^m¡Jmo{bH$ ‘m{hVr àUmbr (GIS) ~) d¡pídH$ ñWmZ{ZpíMVr àUmbr (GPS)

H$)  gwXÿa g§doXZ S>) hdmB© N>m¶m{MÌo

73. Which of the following are the major segment of the Global Positioning
System?

a) Control Segment b) Space Segment

C) User Segment D) All of the above

Imbrbn¡H$s d¡{œH$ ñWmZ{ZpíVr àUmbrMo à‘wI {d^mJ H$moUVo?

A) {Z¶§ÌU {d^mJ ~) A§V[aj {d^mJ

H$)  Cn^mo³Vm {d^mJ S>) darb gd©

74. According to Karl Pearson's correlation coefficient, what is the
correlation coefficient of perfectly negative variables?

A) 0 b) - 1

C) +1 D) None of these

H$mb© {nAg©ZÀ¶m ghg§~§Y JwUm§H$mZwgma nyU© F$UmË‘H$ Mbm§Mm ghg§~§Y JwUm§H$ {H$Vr AgVmo?

A) 0 ~) -1

H$) +1 S>) ¶mn¡H$s Zmhr

75. Which of the following is not a measure of central tendency?

A) Mode b) Mean

C) Range d) Median



Imbrb n¡H$s H$moUVo H|$Ðr¶ àd¥ÎmrMo ‘mnH$ Zmhr?

A) ~hþbH$ ~) ‘Ü¶‘mZ

H$)  H$jm S>) ‘Ü¶Jm

76. Convert the Whole Circle Bearing 310° into quadrantal bearing.

A) South 50° West B) South 40° West

C) North 50° West d) North 40° West

3100 nwU© dVw©i {XJm§emMo nmd {Xem§JmV énm§Va H$am.

A) X{jU 500 npíM‘ ~) X{jU 400 npíM‘

H$)  CÎma 500 npíM‘ S>) CÎma 400 npíM‘

77. What is the actual difference between Forward Bearing and Backward
Bearing ?

a) 450 b) 900

c) 1800 d) 2700

AJ«{XJm§e Am{U nmœ©{XJm§e ¶mVrb ’$aH$ H$m¶ AgVmo?

A) 450 ~) 900

H$)  1800 S>) 2700

78. Which of the following geographical region have low population density?

a) Mountains b) Plateau

c) Plains d) Sea coasts

Imbrbn¡H$s H$moUË¶m ^m¡Jmo{bH$ àXoemV bmoH$g§»¶m KZVm H$‘r AmT>iVo?

A) nd©V ~) nR>mao

H$)  ‘¡XmZo S>) g‘wÐ {H$Zmao

79. What is the name of concept if the population is less than the available
resources?

a) Over population b) Optimum population

c) Minimum population d) None of these

CnbãY gmYZ g§nÎmrÀ¶m VwbZoV bmoH$g§»¶m H$‘r Agob Va g§H$ënZog H$m¶ åhUVmV?

A) A{V[a³V bmoH$g§»¶m ~) n¶m©ßV bmoH$g§»¶m

H$)  Ý¶yZV‘ bmoH$g§»¶m S>) ¶mn¡H$s Zmhr



80. What will be the change in birth rate if the death rate is high?

a) Increase in birth rate b) Decrease in birth rate

c) Birth rate becomes stable d) None of these

‘¥Ë¶yXa OmñV Agë¶mg OÝ‘XamV H$m¶ ~Xb hmoVmo?

A) OÝ‘Xa dmT>Vmo ~) OÝ‘Xa KQ>Vmo

H$)  OÝ‘Xa pñWa amhVmo S>) ¶mn¡H$s Zmhr

81. In 1953, who proposed Population Geography as a subbranch of Human
Geography in American Geography conference?

a) J. I. Clerk b) A. Melezin

c) W. Zelinsky d) G. T. Triwartha

1953 amoOr A‘o[aH$Z ŷJmobemók n[afXoV H$moUr bmoH$g§»¶m ŷJmobemó ho ‘mZdr
ŷJmobemómMr CnemIm åhUyZ àñVmd gmXa Ho$bm?

A) Oo. Am¶. ³bmH©$ ~) E. ‘oboPrZ

H$)  S>ãë¶w. PobrÝñH$s S>) Or. Q>r. {ÌdmWm©

82. Population Geography is the sub-branch of which branch?

a) Physical Geography b) Human Geography

c) Settlement Geography d) Climatology

bmoH$g§»¶m ŷJmob hr ŷJmobemómÀ¶m H$moUË¶m emIoMr CnemIm Amho?

A) àmH¥${VH$ ^yJmob ~) ‘mZdr  ŷJmob

H$)  dmhVyH$  ^yJmob S>) hdm‘mZemó

83. Which institute in India collects information of population after per 10
years?

a) Census of India b) Population Register

c) National Sample Survey (d) None of these

^maVmVrb H$moUVr g§ñWm Xa 10 dfmªZr bmoH$g§»¶m ‘m{hVr Jmoim H$aVo?

A) goÝgZ Am°’$ B§{S>¶m (OZJUZm) ~) bmoH$g§»¶m a{OñQ>a

H$)  amï´>r¶ Z‘wZm gd}jU S>) ¶mn¡H$s Zmhr

84. Which change takes place in population when the height of the region
increases?

a) Remains equal b) becomes low

c) Increase rapidly d) Increase slowly



àXoemÀ¶m C§MrV dmT>ob Ver bmoH$g§»¶oV H$moUVm ~Xb hmoVmo?

A) g‘mZ amhVo ~) H$‘r hmoVo

H$)  Vrd« dmT> hmoVo S>) ‘§X dmT> hmoVo

85. Which of the following is not the cause of population growth?

(a) Child marriage b) Increase in Health facilities

c) Lack of Contraceptives d) High level lifestyle

Imbrbn¡H$s H$moUVo bmoH$g§»¶m dmT>rMo H$maU Zmhr?

A) bdH$a {ddmh ~) Amamo½¶ gw{dYoV dmT>

H$)  J ©̂{ZamoYH$ gmYZm§Mm A^md S>) CÀMamhUr‘mZ

86. Which of the following is a branch of economic geography?

a) Meteorology b) Geomorphology

c) Resource geography d) Political geography

Imbrbn¡H$s H$moUVr Am{W©H$ ŷJmobmMr emIm Amho?

A) hdm‘mZemó ~) ^wê$nemó

H$)  gmYZg§nÎmr ŷJmob S>) amOH$s¶ ŷJmob

87. Which of the following is a geographical factor affecting on agriculture?

a) Topography b) Economic factors

c) Social factors (d) Political factors.

Imbrbn¡H$s H$moUVm eoVrda n[aUm‘ H$aUmam ^m¡Jmo{bH$ KQ>H$ Amho?

A) ŷaMZm ~)  Am{W©H$ KQ>H$

H$)  gm‘m{OH$ KQ>H$ S>) amOH$s¶ KQ>H$

88. In which of the following year Special Economic Zone (SEZ) policy was
announced?

(a) April, 1999 b) April, 2000

c) April, 2005 (d) April, 2007

Imbrbn¡H$s H$moUË¶m dfu {doeof Am{W©H$ joÌ (SEZ) Mo YmoaU Kmo{fV Pmbo?

A) E{àb, 1999 ~)  E{àb, 2000

H$)   E{àb, 2005 S>)  E{àb, 2007



89. What is raw material that remains weight in production process ?

a) Iron ore b) Coal

c) Cotton d) Sugarcane

CËnmXZ à{H«$¶oV dOZ H$m¶‘ amhUmam H$ÀMm ‘mb H$moUVm?

A) bmohI{ZO ~) XJS>r H$moigm

H$)  H$mnyg S>) D$g

90. Dhanbad city in India is the example of which situation?

a) Agriculture b) Forest area

c) Mining area d) Transportation

^maVmVrb YZ~mX ho eha H$moUË¶m pñWVrMo CXmhaU Amho?

A) H¥$fr ~) dZjoÌ

H$)  I{ZOjoÌ S>) dmhVyH$

91. Which of the following theory is postulated by Walter Christallor  ?

a) Continental Drift Theory b) Concentric Zone Theory

c) Multiple nuclei Theory d) Central Place Theory

~mëQ>a {¼ñQ>ba ¶m§Zr Imbrbn¡H$s H$moUVm {gÕm§V ‘m§S>bm?

A) ^yI§S> dmhZ {gÕm§V ~) g‘H|$Ð dVw©i {gÕm§V

H$)  ~hþH|$Ð {gÕm§V S>) ‘Ü¶dVu ñWb {gÕm§V

92. Jamshedpur city is known for which function?

a) Industry b) Defence

c) Administration d) Tourism

O‘eoXnya ho eha H$moUË¶m H$m¶m©gmR>r AmoiIbo OmV?

A) Am¡Úmo{JH$ ~) bîH$ar

H$)  àemgH$s¶ S>) n¶©Q>Z

93. Which of the following is the capital of Punjab?

a) Amritsar b) Chandigarh

c) Hoshiarpur d) Panipat

Imbrbn¡H$s n§Om~Mr amOYmZr H$moUVr Amho?

A) A‘¥Vga ~) M§{XJT>

H$)  hmo{e¶manwa S>) nm{ZnV



94. On which year the Concentric zone theory was postulated?

a) 1920 b) 1923

c) 1925 d) 1930

g‘H|$Ð H${Q>~§Y {gÕm§V H$moUË¶m dfu ‘m§S>Ê¶mV Ambm?

A) 1920 ~) 1923

H$)  1925 S>) 1930

95. Which area is known as "The Heart of the urban place"?

a) Industrial area b) Residential area

c) Central Business District d) Educational area

"ZJamMo öX¶' åhUyZ H$moUË¶m {d^mJmg AmoiIbo OmVo?

A) Am¡Úmo{JH$ joÌ ~) {Zdmgr joÌ

H$)  H|$Ðr¶ ì¶mnmar joÌ S>) e¡j{UH$ joÌ

96. Location and climate are static elements of ........... Geography.

a) Political b) Economic

c) Social d) Physical

ñWmZ  Am{U hdm‘mZ ho ..................... ŷJmobmMo pñWa KQ>H$ AmhoV.

A) amOH$s¶ ~) Am{W©H$

H$)  gm‘m{OH$ S>) àmH¥${VH$

97. West Bengal shares its border with .................

a) Pakistan b) Nepal

c) Bangladesh d) Myanmar

npíM‘ ~§Jmb Mr gr‘m ................ Xoembm bmJyZ Amho.

A) nm{H$ñVmZ ~) Zonmi

H$)  ~m§JbmXe S>) å¶mZ‘ma

98. ................ water dispute is present between India and Bangladesh

a) Godavari (b) Sindu

(c) Satlaj (d) Ganga

^maV d ~m§JbmXoe ¶m XmoZ Xoem§‘Ü¶o ........... ¶m ZXrÀ¶m nmUr dmQ>nmdéZ dmX Amho.

A) JmoXmdar ~) [g§Yy

H$)  gVbO S>) J§Jm



99. .............. Dam has been constructed on Warana river

a) Koyana b) Radhanagari

c) Ujani d) Chandoli

dmaUm ZXrda ............. ho YaU ~m§YÊ¶mV Ambo Amho.

A) H$mo¶Zm ~) amYmZJar

H$)  COZr S>) Mm§Xmobr

100. .................. is unstable element of Political Geography.

a) Location (b) Climate

c) Physiography d) Population

................... hm amOH$s¶ ^yJmobmMm ApñWa KQ>H$ Amho.

A) ñWmZ ~) hdm‘mZ

H$)  ŷn¥ï>aMZm S>) bmoH$g§»¶m


